If (I | (Y ‘.1‘:’ |
i | [t AR
{0 AR e i
| I e IR A
} i i il ;}i‘,\ ‘\ Il
| 1 s

PRODUCT CATALOGUE



MANUAL TOOL CHANGE

TVPE Power Freq Speed Voltage Amperes Cos. Pole
(Kw) (H2) (Rpm) % A ¢ P
0.22 200 12000 220 15 0.67 2
HMA 55
(HMA 02) 0.27 300 18000 220 1.6 0.68 2
0.27 400 24000 220 1.6 0.68 2
0.11 100 6000 220 07 0,65 2
0,22 200 12000 220 15 0,67 2
HMA 60 0,22 200 12000 220/ 380 1,5/0,87 0.67 2
(HMA 12) 0,27 300 18000 220 1,9 0.70 2
0,27 300 18000 220/ 380 1,9/1.1 0,70 2
0,27 400 24000 220 19 0.70 2
0.15 100 6000 220 1,05 0,65 2
0.35 200 12000 220 2,0 0.70 2
0.35 200 12000 220/380 2,0/1,16 0.70 2
HMA 70
(HMA 22) 0.45 300 18000 220 2.4 071 2
0.45 300 18000 220/380 24114 071 2
0.45 400 24000 220 2.4 071 2
0.45 400 24000 220/380 24114 071 2
0.22 100 6000 220 15 0.68 2
0.37 200 12000 220 2,2 0.70 2
0.37 200 12000 220/380 22/1,2 0.70 2
HMA 85 0.45 250 15000 220 25 0.70 2
(HMA 32) 0.55 300 18000 220 3.2 0.71 2
0.55 300 18000 220/380 3,2/1,8 0.71 2
0,55 400 24000 220 3.2 0.71 2
0,55 400 24000 220/380 3,2/1,8 0.71 2
0,27 100 6000 220 16 0,67 2
0.45 175 10500 220 23 0.70 2
0.55 200 12000 220 2.6 0,71 2
0.55 200 12000 220/380 2.6/15 0,71 2
HMA 95
(HMA 42) 0.60 250 15000 220 3.4 0,71 2
0.75 300 18000 220 3.7 0,71 2
0.75 300 18000 220/380 3,7/2.2 0,71 2
0,75 400 24000 220 37 0,72 2
0,75 400 24000 220/380 37/22 0,72 2
0.37 100 6000 220 2.0 0,68 2
0.75 200 12000 220 3.8 0,70 2
0.75 200 12000 220/380 3,8/2.2 0,70 2
HMA 115
(HMA 52) 1.1 300 18000 220 5.1 0,71 2
1.1 300 18000 220/380 5,1/3.0 0,71 2
1.1 400 24000 220 5.1 0,72 2
1.1 400 24000 220/380 5,1/3.0 0,72 2




HMA 55
HMA 60
HMA 70
HMA 85
HMA 95
HMA 115

215
220
230
245
260

60
75
5
75
75

30

70
75
85

110

115

LONG STEEL COVER (CKL) / DOUBLE BEARINGS (DB) or CERAMIC BEARINGS (CB) (optional)

5B = 40 58
BE e = L )
o3 e se e -
dg' | |
w s [ UKF l UKB
S 5 8| ! !
%l =N
L\
\ wn
X 2
N~
= ©
o i HE i
A
C B

67

YKR

35

l’EB'Z'Q'I

98 +0,5

M6 T7

L,

24

40

M25x1,5_{

31

N

12

10/17.5

C

\ Only available on HMA115 |

YKL

PLUG
TYPE

—

ER20 S -NUT

@35

M25x1,5

s

ER20 - COLLET

S F———r
©
-~
Q

\_

31,6

min @ 1 mm
max @13 mm

6'/\67\

ELECTRIC CONNECTION (Check Motor Label For Voltage Value)

220 or 380V

220V
o 7l

380V
yyw

220 or 380V

)

=)

PLUG TYPE




HMA 55 205 60 - 70
HMA 60 210 60 - 75
HMA 70 220 75 - 85
HMA 85 235 75 - 110
HMA 95 250 75 - 115
HMA 115 270 75 30 135
MEDIUM STEEL COVER (CKM) / SINGLE BEARING (SB)
53 2 . 40 58 .
8 g o » C 3 C 3
| 7 |
i2 | UKF | UKB j:@
LY "’i \ )
Q
o
o
i i i
A
( 3
L |
67
s O . B B
= S
0 -3 =)
¢ [l({e = . :
> >
w0
o
+
. . O 8 -
111 114
- ! !
35
g 2 " oMs T7 o o
§L 3 g
|
f‘?77' /f/ L0 (®) Q -
0 . PLUG
& % TYPE
=L {
30 34 (91175 B C \\ Only available on HMA115 h:
S—
ER20 S-NUT ER20 - COLLET ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
220 or 380V 220V 380 V 220 or 380V
= i = o Uy w
Lol = s © min @ 1mm =t
Q 9 il Q max @13 mm " ' | rﬁ;é} Loy
s ~H ook U—REIGH-W
31,6 =52 B
B s PLUG TYPE




58

67 -0,5

HMA 55 202 60 - 70
HMA 60 207 60 - 75
HMA 70 217 75 - 85
HMA 85 232 75 - 110
HMA 95 247 75 - 115
HMA 115 267 75 30 135
ALUMINUM COVER (AK) / SINGLE BEARING (SB)
D 40
[ - C R
e -
| !
[ce)
<
Q
’
< i
A

YKL

S

220 or 380V

67
6 o
A
>—
35
| & M6 IT7 O
o %
B =—|— P 2
wh ® B
{. 3
B ! A PLUG
& \ TYPE
N ~
S|
35 275 |175 B c \ Only available on HMA115 %
\_—
ER20:5~NUT ER20 - COLLET ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
- 220 or 380V 220V 380V
) A————
p2 b &i— ©  min @ 1mm : lT'YW 3. LYW
(S Qe { ® max @13 mm @ |
s H —
31,6
19 o

PLUG TYPE




HMA 55
HMA 60
HMA 70
HMA 85
HMA 95

HMA 115

215
220
230
245
260
280

60
60
75
75
75
75

30

70
75
85

110

115

135

LONG STEEL COVER (CKL) / DOUBLE BEARINGS (DB) or CERAMIC BEARINGS (CB) (optional)

&8 - 40 58
e O e e T 1 ~
0§ © C .
05 S = T
o 2 | |
w3 ' UKF | UKB
= % 8 '. f I
gl =\
e
==
0
' E 5
== ~
== ©
o i i i
A
C )
L 1}
67
w
o
+
o @ . j
N e e <
> >
w0
o
+
©
L} ™) 4y
11 111
Ad ! |
r‘— O M6 I7 O (@)
% g
8] Q Q
A PLUG |—22—
% TYPE l]
30 31 12.10/175 B C \Only available on HMA115 %
=
] RN CRLET ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
220 or 380V 220 or 380V
l-l')' 5
o % &T/ — © min @ 1mm LY
Q g 1 Q max @10 mm (i“lr%ri 9?‘-:[ | v
lo/iiefie) U— el W
28 e rx::-a1
19 PLUG TYPE




HMA 55 205 60 - 70
HMA 60 210 60 - 75
HMA 70 220 75 - 85
HMA 85 235 75 - 110
HMA 95 250 75 - 115
HMA 115 270 75 30 135
MEDIUM STEEL COVER (CKM) / SINGLE BEARING (SB)
ﬁ 5 . D 40 58
O C’ —————————— - ~
l ;
12 i UKF | UKB j@
n L X ; I
v
<
5
15
A

\

e
Lo
o
+
o @ "
X = <
> >
(-
35
_ 8 e B O o
o S
x & g
L L
& O Q Q
< PLUG
§ \ TYPE D
= ‘ —
30 3 9175 B C \ Only available on HMA115 )
—
ER16 S -NUT ER16 - COLLET ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
T o 220 or 380V 220V S 380V 220 or 380V
N E s k © min @ 1mm 2
Q N §= &  max @10 mm ==y
s O
28 )
19 PLUG TYPE




HMA 55 202 60 = 70

HMA 60 207 60 = 75
HMA 70 217 75 = 85
HMA 85 232 75 = 110
HMA 95 247 75 = 115
HMA 115 267 75 30 135

ALUMINUM COVER (AK) / SINGLE BEARING (SB)

D 40 58

e R s
L

. UKF UKB j:@

@48

67 -0,5

- =3
i L E B
111 1
T +

A
' &)
L ]
67
'S o R
0
o
]
o oy -
N - <
e >
1
35
T2 /////// ? Q Q ‘L,«
gL - = 4
& it S5
) ’I/W / @ Q @
0 A . 08
e | i X PLUG
ﬁ | \ TYPE L []
=/ | =
35 gl 275 |115| B C Only available on HMA115 %
' = |
BRI - BIFIP =~ CRLEET ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
T & 220 or 380V 220 or 380V
w0 .
= S (H : ©  min @ 1mm Yy
N i &  max @10 mm | fagas
o &= S | -V
= ‘L%ﬁl Li?ﬁ _J' w
28 -l
@ PLUG TYPE




HMA 55 199 60 - 70
HMA 60 204 60 - 75
HMA 70 214 75 - 85
HMA 85 229 75 - 110
HMA 95 244 75 - 115
HMA 115 264 75 30 135
SMALL STEEL COVER (CKS) / SINGLE BEARING (SB)
0 40 58
o= e = C
4 e T i
i L ke | UKB
O } {
w O L J
i [g o
! <
= ~
et 5
t(
g HH Hi
A
C )
L ]
67
©
K
Y < s
X — 3 X
> >
L
o
+
i & I
Ad | ! 1 } 1
)
gl — O M6 I7
1 :
Lo
35 | 225 |10]475 B C
ER16 M - NUT ER16 - COLLET ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
— 220 or 380V 220V 380V 220 or 380V
N x* H—— © min @ 1mm o E
N P o o S max @10 mm : :
s 5 &
o8 T oic) R
18 ‘ x
@ PLUG TYPE




HMA 55 202 60 - 70
HMA 60 207 60 - 75
HMA 70 217 75 - 85
HMA 85 232 75 - 110
HMA 95 247 75 - 115
HMA 115 267 75 30 135
ALUMINUM COVER (AK) / SINGLE BEARING (SB)
- i . 40 58
E_ __________ e r M
r T
| UKF ! UKB
© ©
F=H=
: x 0
1] |8 28 (@
= ] o
{
":; Ty '©.|. ..l.@
g i il il i HE—
w | |24 |
A < 40 3
[ ] 72
67
w0
f
14 3 <
¥4 & = ¥4
= w D
o
H
A g -
o S Ll
35 -
M6 T7
o [ o o
1 %
<l | Q Q
3 L]
=
3% |8 275 175 B
ER16 M - NUT ER16 - COLLET ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
I ) 220 or 380V 220V 380V 220 or 380V
i X —(H ©  min @ 1mm Uvw
S m = & = & max210mm b | | BTy
18 i )
@ PLUG TYPE




M8x20_LH or RH

HMA 55
HMA 60
HMA 70
HMA 85
HMA 95

HMA 115

224
229
239
254
269
289

60
60
75
75
75
75

LONG STEEL COVER (CKL) /

STEEL COVER
(double bearings)

//

40

58

~

UKB l

1)

67 -0,5

i

i

e
L=

BOLT _ M8LHorRH

©

0
o|
H|
o b4 =
T % <
> R =
P
+i
[{e]
) m LA/
i
@
Q
zS — —y
M = o0 [ S0
/ S —oM8TT o \VaY Va¥%
! T T T
[U X ﬁ ? RH
I“ 9 R PLUG 66
\l 23
= 3 TYPE i
25,5 31 (12 17.5 [ \ Only available on HMA115 %
' " ——

\-

ELECTRIC CONNECTION (Check Motor Label For Voltage Value)

220 or 380V

220 or 380V

A2

C !

=i

PLUG TYPE




Sav{.tiqie__pzo

M8x20 LH or RH

HMA 55 217 60 - 70
HMA 60 222 60 - 75
HMA 70 232 75 - 85
HMA 85 247 75 - 110
HMA 95 262 75 - 115
HMA 115 282 75 30 135
MEDIUM STEEL COVER (CKM) / SINGLE BEARING (SB)
g g' 1 3 40 58
| — ="
@
iz . UKF | UKB j@
@ l"] : :
0
S
S
i : i
A
C A
67
I 3 \@ p B
3
m [oe]
F(E s °’ ¢
> >
0
o
+|
ql © © 8 13
Ak 1 | 1 ! 1
B A~ A
YA YA
O || OR
@ M6 T7 O O N /4B
L% ™ J o s ;
M NL < LH RH
Q o Q 66
\ X PLUG
Ll e A TYPE I
255 34 191175 B e \ Only available on HMA115 %
=
BOLT _ M8 LHorRH WASHER
ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
T /7 220 or 380V 220V 380V 220 or 380V
fF ©) & 8 .
R N N
o )
o
| 20~25| =
65| Il15

PLUG TYPE




M8x20_LH or RH

HMA 55 208 60 - 70
HMA 60 213 60 - 75
HMA 70 223 75 - 85
HMA 85 238 75 - 110
HMA 95 253 75 - 115
HMA 115 273 75 30 135
SMALL STEEL COVER (CKS) / SINGLE BEARING (SB)
i 40 58
D - I J L
L " = :
i > . UKF UKB
EO : :
» O . . I
N\ =
'/,::',.1
ZIN
) s
Z7 o ©
o8
77 i o fin =
gi 8! Ll Ll
A
C B
67
)
]
m o]
< = " <
> >
0
o
+i
U s )
il
o A '
£
=00 ~
g = A~ —
T o AYRIN A YA\
| QM6 7 o VaY \Va ¥
@ §L g LH RH
i Q Q
| A\ PLUG 66
b T U \ TYPE []
295 | 225 10/175 B C \ Only available on HMA115 %
\_
BOLT _ M8LHorRH WASHER

==

20~25

-

216

N I
:
4,3

ELECTRIC CONNECTION (Check Motor Label For Voltage Value)

220 or 380V

. 220V 380V 220 or 380V

=YYW 5 yyy
| J & 2 =
G N

(Fe-V

{ﬁﬁl : lF‘ Sw

@ ]

@ PLUG TYPE




M8x20_LH or RH

f

Saw Hole

—

 —

HMA 55 211 60 - 70
HMA 60 216 60 - 75
HMA 70 226 75 - 85
HMA 85 241 75 - 110
HMA 95 256 75 - 115
HMA 115 276 75 30 135
ALUMINUM COVER (AK) / SINGLE BEARING (SB)
" 40 58
C __________ -~
o .
! UKF ]t UKB j:@
YEEIE : i
7 ~ |
N g )
Y Q : :
3 i i HiH
Q
A
C R
[ ]
0
{
m o]
< = <
> >
1
Q
S
mog - YA (0
Ve RNV
.1 O M6 T7 o [ O o B
% & I LH RH
Q Q
66
— PLUG
o i LY TYPE I
295 |8 275 B [ 7 \ Only available on HMA115 %
' L= N
BOLT _ M8 LH orRH WASHER
ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
220 or 380V 220V 380V 220 or 380V
Uuvw - UV W uvw
== (0 yw g dve g
b ) LV
.20~25 ‘Eﬁ L@gﬂ@‘ u—@vw
S| S O | eweree




YKL

HMA 55 195 60 - 70
HMA 60 200 60 - 75
HMA 70 210 75 - 85
HMA 85 225 75 - 110
HMA 95 240 75 - 115
HMA 115 260 75 30 135
ALUMINUM COVER (AK) / SINGLE BEARING (SB)
D 40
L __________ S X
A .
o OUKF UKB ]
o 1\:2 0
5} N5 O]
I s >
=1 < e | P >
“ . .
1% ©
=
s : ,
HH Hi
A
( B
67
o
b 1
S
Te)
o
i
9l b
V“q‘ ]
\“ 1
N \“ -
8{ - O Me T7
o <t
21| 4
5 \| H 10
w \| |
\ L]
LI
\
1,5 8| 275 175 B C \\ Only available on HMA115

NUT M14x1,5 LH or RH

i

O

\_

ELECTRIC CONNECTION (Check Motor Label For Voltage Value)

220 or 380V

220 or 380V

Yyl
B

IS=T)

uyw
&=
o

PLUG TYPE




HMA 55
HMA 60
HMA 70
HMA 85
HMA 95

HMA 115

218
223
233
248
263
283

60 =
60 =
75 =
75 =
75 =
75 30

70

75
85
110
115
135

LONG STEEL COVER (CKL) / DOUBLE BEARINGS (DB) or CERAMIC BEARINGS (CB) (optional)

« g . D 40 58
w e
2 —
0 g 2B i )
O 5 P e -
i o o l 1
w 0S| l UKF | UKB
(o) = = 3| | |
T ! (2838 L }
| % ~—1
g \
e}
=i :
L ] =
==+ N~
w0
o HH HH HH
A
C 2
L ]
67
T B
©
o
+H
e b 7
¥4 — w <
> b, >
o
+l
[(e}
q i ® iF
i i
o
= X0 Y&
2 || ORT
8 O M6 T7 O o 3 &
T o & — ———1
104 3 S LH RH
Q| N \ PLUG
) \ TYPE | |
175 16 31 12 10[ 175 B e \ Only available on HMA115 %
i = s |
BOLT _ M8 LHorRH WASHER
ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
T 220 or 380V | . 220V 220 or 380V
s w0 o S yvw
—1 5 (O 8L S —a -
z I (o1{) i A
20~25_ u—EEiw
4’3J 1 ,5 _LL:_—_;JJ_
PLUG TYPE




HMA 55 202 60 - 70
HMA 60 207 60 - 75
HMA 70 217 75 - 85
HMA 85 232 75 - 110
HMA 95 247 75 - 115
HMA 115 267 75 30 135
SMALL STEEL COVER (CKS) / SINGLE BEARING (SB)
o EX 40 58
o — — -
L Sy T T
. t 2 I UKF UKB j@
I I
- ”n O \ |
- \
8|
-
F—h ©
= 2
(o‘ ol ©
Q Q
2 1 HHH HiH
Q
A
C 3
L 1
67
0
{
o ©
¥ = - <
> >
to}
o
+
44 3 )
it 11 1l
N P 4
1 050 [ OB
\ S M6 T7 o) 0O \Va ¥ VoY
@ g[ S LH RH
Q Q Q -
X PLUG
\ TYPE D
17,8 | 20. | 225 [10|17:56 B C \Only available on HMA115 §
= 4
BOLT _ M8 LHorRH WASHER
ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
T 220 or 380V 380V 220 or 380V
— g 12
e Qi Q
| 20~25 -
4,3[ 1,5

PLUG TYPE




HMA 55 181 60 - 70
HMA 60 186 60 - 75
HMA 70 196 75 - 85
HMA 85 211 75 - 110
HMA 95 226 75 - 115
HMA 115 246 75 30 135
SMALL STEEL COVER (CKS) / SINGLE BEARING (SB)
D 40 58
|
C‘ —————————— - C ! f
L (s =
f . UKF | UKB
= O { !
n O 1 |
w
- o
8 [ " &
== 5
:f; i 1
A
T ]
L |
67
[ i B
©
o
+
o boss -
X e g e
= >
©
o
+
| & 19
AA 1 | 1 I ! L
T
Z o
5 &
s = =
3 =18 o M6 T7 o o oV A\ M
= é < = — | E—
N < LH RH
gl ? Q @:}{ PLUG 66
\
\ TYPE
= : I
13 225 110175 B [ B \ Only available on HMA115 %
\_
BOLT _ M8LHorRH KEY 5x5x10 ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
220 or 380V 220V 380V 220 or 380V
0 uvw 2
—— COw SV Y
—1 = e f e
| BIONE o Vv
| 20-25. =5 R . 5eay
@ PLUG TYPE




M8x20_LH or RH

HMA 55 205 60 - 70
HMA 60 210 60 - 75
HMA 70 220 75 - 85
HMA 85 235 75 - 110
HMA 95 250 75 - 115
HMA 115 270 75 30 135
ALUMINUM COVER (AK) / SINGLE BEARING (SB)
D 40 & 58 ’
T, C
R T
| UKF i UKB j:@
~ ! !
|
4
b : [¢e] w
© )
=) | 1 3
© o ©
o | N
8 a !
HH HH i
A
[ y
L i
67
2. =
N h e
> >
o o
N S
anw, &0 || &
— i 2 = e e
L;I_ZD[X] S S LH RH
0 ¢ 9 o
|| : PLUG
TYPE
175 20 |8l 275 |175 B C \Only available on HMA115 p—
BOLT _ M8 LHorRH WASHER
ELECTRIC CONNECTION (Check Motor Label For Voltage Value)
'f— o 220 or 380V 220V 380V 220 or 380V
T oOT “N" o B ALY W uvw uvw
=5 S [l8 s llcan Riian
[ SN 7 eV
| 20~25 | - @%l ué&é& uﬂmw
_‘.‘z.i',l_l.-5 ' *
@ @ PLUG TYPE




